O] #E H 1 ginx = 0.6691 & o], x 9] g7

@® 39°

2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004
@ 40° ® 41° @ 42° ® 45°



oh2 I9olA zx 9] 27]? p

A < 70°
0
£
80°
B

@ 10° @ 20° ® 30° @ 40° ® 50°



3. o= 23T o] Yol WHshE x, 2y & 2717

@ 2zx=100° 2y = 80° @ /x=105°, 1y = 80°
@ /x=100° sy =85° @ /x=105° fy=85°

® /x = 110°, Ly = 80°



@® 93° @ 95° ® 96° @ 98° ® 99°



ol

ol

ol
A4 N
O B
k

ol
r?
B E




o], BC 7} 12

<™

e A 747k ABC oA tan A

< 2197

=

6.

)

Nl
ol

@)
<

o

@ 13 ® 12 @ 1 ® 10

® 15



7.

ot Al 9] gr2?
sin 60 ° x sin® 30 ° + cos 30 ° x sin? 60 °
V3 V2

2

® 1 @ @72

@

N | =



D 30

A D
/S i
.8
B=~—To——T

@ 30v2 @ 30Vv3 @ 32v2  ® 323



9. & 1A ABLOC,MB = 6, MC = 4 ¥ 1, x & Zdo|&
Tfolat

D 13v3 @ 13v2 3 13 @? ® —



10. o 2™ PT = 9 0 o HAL o, xy o] 8127




11. o2 I8oA v H A, B, C, D7}
SF A flell 171§t vx 9] AV E
52
@D 21° @ 22° @ 23°
@ 24° (® 25°




12.

h
sin 45°
® htan60° — htan45°

® h

@ hcos30°

@ htan30°



13.

90 9 828 9] Zoli= 6 o]t o] el tgshs 821G Holk
Anfol =717

D 56+vV3 @ 54v3 @ 53v3 @ 51v3 B 50V3



14. oZ IHNM AB=9.BC=6, A+ ,
/C=45°Y O, AABC 9] Yol=?

® —272‘/3 o) %
® 272\/5 @ 3\/§2+\/§
272+ 5

2



15. g 23 Zol dmape] E7] whHol

dol=?

@ 19

® 20

@ 21



16.

ok 204
ot

®
:
B8

A
AR

;}j_]

ot

i

22 Yol

@ Zxcm?

® 21rcm?

21
® —acm



17. o 2983 2L 0 = 90° A A7 A

ABC o4 CDLAB, DELAC ¥ W], AADE 9]
sol=?
D E
v, 60°
A )
“~~8cm--7 C
O 18cm? @ 18V2cm? ® 18.5cm?

@ 18 V3cm? ® 18 V6cm?



18. & 104 AABC ¢ Ho|= F5}¢] A
2},
D 24+4V3 @ 24+8+3
® 48 +4V3 @ 48483
® 48 +16+3




19. g 123} 2ol 5 tjztale] Aols} 242
7cm, 8 cm Q1 AHZEE 9] Yol o] | Hgre?
D 14v2cm? @ 28cm?
® 14V3cm? @ 283 cm?
® 56 cm?




O V5 @ 3 ® 4 @ 245 ® 5



